<u>Gazi University Journal of Science</u> GU J Sci 29(4): 923-927 (2016)



Oscillation Criteria for a Class of Second Order Nonlinear Differential Equations

Adil MISIR^{1,}, Süleyman ÖĞREKÇİ²

¹ Department of Mathematics, Faculty of Science, Gazi University, Ankara, Turkey.

² Department of Mathematics, Sciences & Arts Faculty, Amasya University, Amasya, Turkey.

Received: 18/10/2016 Accepted: 27/10/2016

ABSTRACT

In this paper, we are concerned with the oscillation of a class of second order nonlinear differential equations. By using the Riccati technique some new oscillation criteria are established, therefore, we generalize and extend a number of existing oscillation criteria. An example is also given to illustrate our results.

2000 Mathematics Subject Classification: 34C10, 34C15, 34K11 *Keywords:* Differential Equations, Oscillation, Riccati technique.

1. INTRODUCTION

This paper is concerned with the oscillation of the solutions of the second-order nonlinear differential equation

$$k'(t, x(t), x'(t)) + q(t)\varphi(f(x(t)), k(t, x(t), x'(t))) = 0,$$
(1.1)

where $q \in C([t_0,\infty),\mathbb{R})$, $f \in C(\mathbb{R},\mathbb{R})$ with $xf(x) \neq 0$ for $x \neq 0$, $k \in C^1(\mathbb{R}^3,\mathbb{R})$ with wk(u,v,w) > 0 for all $w \neq 0$, $\varphi \in C(\mathbb{R}^2,\mathbb{R})$ with $u\varphi(u,v) > 0$ and $\varphi(\lambda u, \lambda v) = \lambda \varphi(u,v)$ where

wk(u, v, w) > 0 for all $w \neq 0$, $\varphi \in C(\mathbb{R}^{n}, \mathbb{R})$ with $u\varphi(u, v) > 0$ and $\varphi(\lambda u, \lambda v) = \lambda \varphi(u, v)$ wher $\lambda \in (0, \infty)$.

A function $x:[t_0,t_1) \to (-\infty,\infty)$, $t_1 > t_0$, is called a solution of Eq. (1.1) if x(t) satisfies Eq. (1.1) for all $t \in [t_0,t_1)$. In this paper we restrict our attention to these solutions, x(t) of Eq. (1.1) which exists on $[t_0,\infty)$ and satisfy

Corresponding author, e-mail: adilm@gazi.edu.tr

 $\sup\{x(t): t > t_x\} \neq 0$ for all $t_x \ge t_0$. Such a solution of Eq. (1.1) is called oscillatory if the set of its zeros is unbounded from above, otherwise, it is said to be nonoscillatory. Eq. (1.1) is called oscillatory, if its all solutions are oscillatory.

There are a great number of papers devoted to particular cases of Eq. (1.1) such as x''(t) + q(t)x(t) = 0,

$$(r(t)x'(t)) + q(t)f(x(t)) = 0,$$

see for example [1]-[5] and references cited therein. For the oscillation of

$$x''(t) + q(t)\phi(x(t), x'(t)) = 0, \qquad (1.2)$$

Bihari [6] proved that if q(t) > 0 for all $t \ge t_0$ and

$$\lim_{t\to\infty}\int_{t_0}^{t}q(s)ds=\infty,$$

then Eq. (1.2) is oscillatory.

The following theorem extends the result of Bihari [6] to an equation in which q is of arbitrary sign: Kartsatos [7] proved that Eq. (1.2) is oscillatory if

$$\lim_{t\to\infty}\int_{t_0}^{t}q(s)ds=\infty$$

and there exists a constant $c_1 \in (0,\infty)$ such that

$$\Phi(m) = \int_{0}^{m} \frac{dw}{\phi(1,w)} \ge -c_1 \text{ for every } m \in \mathbb{R}.$$
(1.3)

Recently, Elabbasy and Elzeiny [8] extended the results of Bihari [6] and Kartsatos [7] for the equation

$$\left(r(t)\psi(x)f(x')\right) + q(t)\varphi(g(x),r(t)\psi(x)f(x')) = 0,$$
(1.4)

with the following criteria: Eq. (1.4) is oscillatory if (1.3) holds and

$$\limsup_{t \to \infty} \frac{1}{t^{\beta}} \int_{t_0}^t (t-s)^{\beta} q(s) ds = \infty \text{ for some } \beta \ge 0.$$
(1.5)

Considering the type of Eq. (1.1), the aim of this paper is to obtain some new oscillation criteria which extend the results of Bihari [6], Kartsatos [7] and Elabbasy and Elzeiny [8].

2. MAIN RESULTS

In this section, we will establish sufficient conditions to Eq. (1.1) to be oscillatory. Therefore, we will use the Riccati substitution technique in our proofs. An example is also will be given to illustrate results.

Theorem 1 Assume that $f' \ge 0$, (1.3) and (1.5) hold. Then Eq. (1.1) is oscillatory.

Proof. On the contrary, suppose that Eq. (1.1) has a nonoscillatory solution x(t). We may assume that x(t) > 0 on $[T, \infty)$ for some large $T \ge t_0$. Let $\theta(t)$ be defined by

$$\theta(t) = \frac{k(t, x, x')}{f(x)}, t \ge T.$$
(2.1)

Differentiating Eq. (2.1) and using Eq. (1.1) we get

$$\theta'(t) = -q(t)\varphi(1,\theta(t)) - \frac{k(t,x,x')f'(x)x'(t)}{f^{2}(x)}$$

which implies

 $\theta'(t) \leq -q(t)\varphi(1,\theta(t))$

or

$$q(t) \le -\frac{\theta'(t)}{\varphi(1,\theta(t))} \tag{2.2}$$

for $t \ge T$. Multiplying Eq. (2.2) by $(t-s)^{\beta}$ and then integrating, we get

$$\int_{T}^{t} (t-s)^{\beta} q(s) ds \leq -\int_{T}^{t} (t-s)^{\beta} \frac{\theta'(s)}{\varphi(1,\theta(s))} ds.$$

$$(2.3)$$

By Bonnet's theorem [9], we see that for each $t \ge T$, there exists $\alpha_t \in [T, t]$ such that

$$-\int_{T}^{t} (t-s)^{\beta} \frac{\theta'(s)}{\phi(1,\theta(s))} ds = -(t-T)^{\beta} \int_{T}^{\alpha_{t}} \frac{\theta'(s)}{\phi(1,\theta(s))} ds = -(t-T)^{\beta} \int_{\theta(T)}^{\theta(\alpha_{t})} \frac{dw}{\phi(1,w)}$$
$$= -(t-T)^{\beta} \left[\Phi(\theta(\alpha_{t})) - \Phi(\theta(T)) \right]$$
$$\leq \left[c_{1} + \Phi(\theta(T)) \right] (t-T)^{\beta}.$$
(2.4)

It follows from (2.3) and (2.4) that

$$\int_{T}^{T} (t-s)^{\beta} q(s) ds \leq [c_1 + \Phi(\theta(T))](t-T)^{\beta}, t \geq T.$$

Dividing this inequality by t^{β} and taking limit superior on both sides, we obtain

$$\limsup_{t \to \infty} \frac{1}{t^{\beta}} \int_{t_0}^t (t-s)^{\beta} q(s) ds = \limsup_{t \to \infty} \frac{1}{t^{\beta}} \int_{t_0}^T (t-s)^{\beta} q(s) ds$$
$$+ \limsup_{t \to \infty} \frac{1}{t^{\beta}} \int_T^t (t-s)^{\beta} q(s) ds < \infty,$$

which contradicts (1.5).

If x(t) < 0 on $[T_0, \infty)$ for some large $T_0 \ge t_0$, the inequality (2.2) still holds. So the same contradiction occurs again. Hence, the proof is complete.

Corollary 1 Let $k(t, x(t), x'(t)) = r(t)k_1(x(t), x'(t))$ in the Eq. (1.1) where r is continuous on $[t_0, \infty)$ with r > 0 and $vk_1(u, v) > 0$. Assume that the condition (1.3) holds. Furthermore, assume that

$$\limsup_{t \to \infty} \frac{1}{R^{\beta}(t)} \int_{t_0}^{t} (R(t) - R(s))^{\beta} q(s) ds = \infty \text{ for some } \beta \ge 0,$$

where $R(t) = \int_{t_0}^{t} \frac{ds}{r(s)}$. Then the Eq. (1.1) is oscillatory.

Proof. In this case, if we define $\theta(t) = \frac{r(t)k(x(t), x'(t))}{f(x(t))}$, (2.2) holds again. Integrating (2.2) multiplied by

 $(R(t) - R(s))^{\beta}$ and following the same procedure as in the theorem above, we obtain

$$\int_{T}^{T} \left(R(t) - R(s) \right)^{\beta} q(s) ds \leq \left[c_1 + \Phi(\theta(T)) \right] \left(R(t) - R(s) \right)^{\beta}, t \geq T.$$

Dividing this inequality by $R^{\beta}(t)$ and taking limit superior on both sides, we get

$$\limsup_{t \to \infty} \frac{1}{R^{\beta}(t)} \int_{t_0}^t (R(t) - R(s))^{\beta} q(s) ds \le \limsup_{t \to \infty} [c_1 + \Phi(\theta(T))] \left(1 - \frac{R(T)}{R(t)}\right)^{\beta}$$

Using $\lim_{t\to\infty} \frac{1}{R(t)} = L \in (0,\infty)$, we obtain the desired contradiction to (1.5).

Theorem 2 Assume that $q(t) \ge 0$, $\frac{\partial \varphi}{\partial u} \ge 0$, $\frac{f(x)}{x} \ge K$ for some $K \ge 0$ hold and there exists a constant $c_2 \in (0,\infty)$ such that

$$\Phi_1(m) = \int_0^m \frac{dw}{\phi(K,w)} \ge -c_2 \text{ for every } m \in \mathbb{R}.$$
(2.5)

Furthermore, assume that (1.5) holds. Then, Eq. (1.1) is oscillatory.

Proof. On the contrary, suppose that Eq. (1.1) has a nonoscillatory solution x(t). We may assume that x(t) > 0 on $[T, \infty)$ for some large $T \ge t_0$. Let $\psi(t)$ be defined

$$\psi(t) = \frac{k\left(t, x(t), x'(t)\right)}{x(t)}, t \ge T.$$
(2.6)

Differentiating (2.6) and using (1.1) we get

$$\psi'(t) = -q(t)\phi\left(\frac{f(x(t))}{x(t)},\psi(t)\right) - \frac{k(t,x(t),x'(t))x'(t)}{x^{2}(t)}$$

which implies

$$\psi'(t) \leq -q(t)\varphi(K,\psi(t))$$

for $t \ge T$. Rest of the proof is similar with the previous theorem, hence omitted. **Corollary 2** Let $k(t, x(t), x'(t)) = r(t)k_1(x(t), x'(t))$ in the Eq. (1.1) where r is continuous on $[t_0, \infty)$ with

r > 0 and $vk_1(u, v) > 0$. Assume that $q(t) \ge 0$, $\frac{\partial \varphi}{\partial u} \ge 0$ and the condition (2.5) hold. Furthermore, assume that $\limsup_{t \to 0} \frac{1}{e^{\theta(x)}} \int_{0}^{t} (R(t) - R(s))^{\theta} q(s) ds = \infty \text{ for some } \beta \ge 0,$

$$\limsup_{t \to \infty} \frac{1}{R^{\beta}(t)} \int_{t_0} (R(t) - R(s))^{\beta} q(s) ds = \infty \text{ for some } \beta \ge 0$$

where $R(t) = \int_{t_0}^{t} \frac{ds}{r(s)}$. Then the Eq. (1.1) is oscillatory.

Remark 1 If we replace the conditions on φ and f with $\frac{\partial \varphi}{\partial u} \leq 0$, $\frac{f(x)}{x} \leq K$ for some $K \geq 0$, the theorem and the corollary above are valid as well.

Remark 2 If we replace the condition $\varphi(\lambda u, \lambda v) = \lambda \varphi(u, v)$ with $\varphi(\lambda u, \lambda v) \leq \lambda \varphi(u, v)$, the theorem and corollary above are valid as well. Furthermore, if $q(t) \geq 0$, Theorem 1 and Corollary 1 are valid with $\phi(\lambda u, \lambda v) \leq \lambda \phi(u, v)$. **Example 1** Consider the differential equation

$$\left(\left(t+x(t)\right)^{2}x'(t)\right)' + \left(\frac{1}{t}+2\sin t\right)x(t)\exp\left(-\left(t+x\right)^{2}x'(t)/x(t)\right) = 0, \ t \ge 1.$$

$$Here, \ q(t) = \frac{1}{t}+2\sin t, \ f(x) = x, \ k(t,x,x') = (t+x)^{2}x' \ and \ \varphi(u,v) = ue^{\frac{-v}{u}}.$$
(2.7)

Note that (1.3) is satisfied. By choosing $\beta = 2$, we have

$$\limsup_{t\to\infty}\frac{1}{t^2}\int_{1}^{t}(t-s)^2q(s)ds=\infty$$

Thus, Theorem 1 ensures that every solution of Eq. (2.7) oscillates. Note that, the results of Bihari [6], Kartsatos [7] and Elabbasy and Elzeiny [8] cannot be applied to Eq. (2.7).

CONFLICT OF INTEREST

No conflict of interest was declared by the authors.

REFERENCES

- Fite, W.B., Concerning the zeros of the solutions of certian differential equations, Trans. Amer. Math. Soc. 19 (1918), 341–352.
- [2] Wintner, A., A criterion of oscillatory stability, Quart. Appl. Math. 7 (1949), 15–117.
- [3] Hartman, P., Non-oscillatory linear differential equations of second order, Amer. J. Math. 74 (1952), 389–400.
- [4] Kamenev, I.V., Integral criterion for oscillation of linear differential equations of second order, Math. Zametki 23 (1978), 249–251.
- [5] Wong, F.H., Yeh, C.C.: Oscillation criteria for second order super-linear differential equations, Math. Japonica 37 (1992), 573–584.
- [6] Bihari, I., An oscillation theorem concerning the half linear differential equation of the second order, Magyar Tud. Akad. Mat. Kutato Int. Kozl. 8 (1963), 275–280.

- [7] Kartsatos, A.G., On oscillation of nonlinear equations of second order, J. Math. Anal. Appl. 24 (1968), 665–668.
- [8] Elabbasy, E.M., Elzeiny, Sh. R., Oscillation theorems concerning non-linear differential equations of the second order, Opuscula Mathematica, Vol. 31, No. 3, (2011), 373-391.
- [9] Bartle, R.G., The elements of real analysis, 7th ed., John Wiley and Sons, 233 (1976).